Math 116 - 099 Name: Solutrtong

Quiz 2 §§6.4 - 7.2

This quiz has a total of 22 points. Please show all work to receive full credit.

1. (8 points] Evaluate the following integrals by hand. Answers without work accompanying them

will receive zero credit.
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2. [3 points] If F is the function defined for z > 0 by F(z) = [i" 1etdt, show that

/ F(z)dz = zF(z) — € +C.
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3. [4 points] Let

4

T(p) = i In(ef + 1)dt
sinp
Calculate %T;.
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4. [5 points]

(a) Write a formula for the function whose derivative is 5“;—*'- and whose graph passes through
the point (m, ~1).
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(b) Suppose f is a continuous, odd function and define another function F by
4
F(z) = / (8t - o).
~12

Find a value for the constant c such that the graph of F' goes through the origin.
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5. [1 each] Circle True or False. No justification needed.
5
(a) —d—/ 2dt = z2.
dz Jo
(O
:‘vui' s comstamt, ?." C = 0] True

(b) F(z) = / t2dt has a local minimum at z = 0.
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6. [3 points, Extra credit!] Show using a substitution that the following integrals are equal:
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